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BKCNMKaUma NoMeLLeHuii.
SKCNMKauma NoMeLLeHuii.
TIno; 13 Ofifiat
O6mmas Homep i TUIOIAMb
TTnommams HanMeHOoBaHHe TIOMETTI.,
Homep TIIOmA b TIOMeTII. 5 TIOMeI.,
HanmeHoBarme TIOMETII. , M M2
TIOMEII. M2 TIOMEI.,
M [MNomelyeHwne V (MecTa obLero nons3oBaHud)
Keapripa Ned9 1 |FecTHuuHas keTka 22.0
1 Mpuxoxxasa 3.6 2 Kopugop 40.4 100.7
2  |KyxHg-cTonoBag 15.7 329 3 Kopuaop 29.6 ’
3 |CnanbHg 9.3 4 |NMudTosoit xonn 8.7
4 |Cly 3.6 KapTtupa Ned1
5 |BankoH (k=1/k=0,3) 3.211.0 |35.4/33.2 1 Mpuxoxas 4.0
Keaptupa Ne50 2 o 3.7 4
1 |Mpuxoxas 35 3 |KyxHa-Huwa 5.0 )
2 |Cly 3.7 95 4 |unas 107
3 |CnanbHa 93 5 BankoH (k=1/k=0,3) 3.0/0.9 |26.4/124.3
4 |KyxHa-cTonosas 15.8 KeapTupa Ne42
5 |BankoH (k=1/k=0,3) 3.1/0.9 |35.4/33.2 1 Mpuxoxan 3.8
KBaptupa Ne51 2 |KyxHs-cTornoBas 18.7 5
1 |[Mpuxoxas 6.3 3 |CnanbHa 11.2 '
2 |Gy 38 4 |cwy 4.1
3 |Cnanbhs 10.6 47.8 5 |BankoH (k=1/k=0,3) 50/1.5 |42.8/39.3
4 |CnanbHg 8.7 KeapTupa Ned3
5  |KyxHg-cTonoBag 18.4 1 Mpuxoxan 39
6 |BankoH (k=1/k=0,3) 5.01.5 [52.8/49.3 > |cy 20 -
Keaptupa Ne52 3 |CnanbHa 1.2 '
1 [Mpuxoxas 6.2 4 |KyxHa-ctonosas 18.7
2 KyxHa-cTonosas 18.3 5 BankoH (k=1/k=0,3) 2.9/0.9 |40.7/138.7
3 CnanbHsa 9.0 47.7 KeapTupa Ned4
4 |CnanbHa 10.3 1 |Mpuxoxas 6.5
5 |Cly 39 2 |lapaepoBHas 33
6 |BankoH (k=1/k=0,3) 51/1.5 |52.8/49.2 3 |Cly 4.4 5 7
KeapTtupa Ne53 4 |CnanbHa 12.3 )
1 Mpuxoxasa 3.8 5 |CnanbHs 11.8
2 |KyxHa-ctonosas 18.6 376 6 |KyxHa-ctronosag 20.4
3 |Cnanbhs 1.2 7 |Bankon (k=1/k=0,3) 36/1.1 |62.3/59.8
4 |Cly 4.0 KeapTtupa Ned5
5 |BankoH (k=1/k=0,3) 43/1.3 |41.9/38.9 P T —" 6.2
Keaptupa Ne54 2 |KyxHs-cTonoBas 185
1 Mpuxoxasa 4.1 3 |CnanbHs 9.0 47.9
2 |Munas 10.6 231 4 |CranbHs 10.3
3 KyxHa-Huwa 5.0 5 |cly 39
4 |Cl 3.4 6 |BankoH (k=1/k=0,3) 5.0/1.5 |52.9/49.4
5 |BankoH (k=1/k=0,3) 3.711.1 |26.8/24.2 KeapTupa Nod6
1 Mpuxoxasn 38
2 |Cf 4.0
! 37.9
3  |CnanbHa 11.4
4 KyxHg-cTonoBagq 18.7
5 |BankoH (k=1/k=0,3) 4.3/1.3 |42.2/39.2
KeapTupa Ned7
1 Mpuxoxag 36
2 |KyxHa-ctonosag 15.6
321
3 |CnanbHsa 93
4 |ciy 3.6
5 |Nopxua (k=1/k=0,5) 2.5/1.3 |34.6/33.4
KeapTupa Ne48
1 Mpuxoxasn 36
2 |Cf 3.6
! 323
3 |CnanbHa 93
4 KyxHg-cTonoBaq 15.8
5 |BankoH (k=1/k=0,3) 3.1/0.9 |35.4/33.2
TTosTaxHbIi TUTaH
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